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Logic Mini-Test Review L

ke a conjecture about the next term in each sequence.
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Make a conjecture based on the given information. Draw a figure to illustrate your conjeciure

5. Points A, B and C are collinear, and D is 7. <1,<2, < 3and < 4 form four I|near pairs.
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“N ﬁ ,"' p g Q “’%jvu;/{ z?/\ajg f{ /i’i (\jw”i'f

NP Y fa o

»;gf /L,,' ‘LY \q/'\g‘ j{/ .

“#, '
[ . i -
i e e

termine whether each conjecture is true or false. Give a counterexample for any false conjecture.

9, Given: <ABC and <CBD form a linear pair.

Conjecture: <ABC = <CBD ™ P Y
; (/ / I % " e / )f! {/ - f e

10. Given: Segments AB, BC, and AC are congruent
Conjecture: A, B and C are collinear.
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11. Given: AB+BC = AC,

Conjecture: AB = BC. A
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12. Given: <1 is complementary to <2, and <1 is complementary to <3.

Conjecture: <2 = <3.
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13. A group of 400 Dakota students were asked what type of music they listened to. They could choose among rap,
country and pop. The results are shown in the Venn diagram.
a. How many students listen to none of these types of music?
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b. How many students listen to all 3 of these types?

d. How many students Ilsten to pop, or rap, or country”-’ |
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Complete each truth table.
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ldentify the hypothesis and conclusion of each statement.
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17.)(every freshman goes to float building, tb(en the freshman ciass ﬂoat will win the competition.
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Write each statement in if-then form. (
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18. A polygon with four sides is a quadrilateral. ) .
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19. An acute angle has a measure less than 90 degrees.
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Determine the truth value of the following statement for each set of conditions.
If you finish your homeworlk by 5 p.m., then you go out to dinner.

20. You finish your homework by 5 p.m. and you go out to dinner. f AL AL
21. You finish your homework by 4 p.m. and you go out to dinner. | A/ 14
22. You finish your homework by 5 p.m. and you do not go out to dinner. ﬁ(’zﬁz{/’j{/

Write the converse, inverse and contrapositive of each conditional statement. Tell which statements are true and which
statements are false.

23, Ha polygon is a rectangle, then it is a square. i;ﬁﬁfgﬁ
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24. If two angles are complementary, then the sum of thelr measures is 90 degrees. J A
Converse: !
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Contrapositive:
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Determine whether the followmg statements are always, sometimes, or never true, Explam your reasonmg

25, Three collinear points determine a plane.
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26. Two poinis A and B \éetermine aline.
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27. A plane contains at least three lines.,
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28. The intersection of two planes contains at least two points. ¥ &
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29. If three planeswhave a peint in common, then they have a whole line in common.
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30. in the figure, point Bis the midpoint of segment AC and point C is the midpoint of segment BD.
Write a paragraph proof to prove that AB = CD,
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31.if théﬂﬁgure, Eis the m:dpo;nt of segment AB and CD, and AB = CD.
Write a paragraph proof to prove that AE = ED.
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